This is written primarily for individual taxpayers, rather than for employers.  I attempted to explain things as simply as I can, but this does not cover every situation.  I hope that everything is correct, but you will need to refer to the links, the tax code, and final rules for legal procedures and details.  Several of the numbers will be indexed for inflation in future years.
The credits and “cost sharing deductions” are based on the Federal Poverty Level (FPL).  The 2013 FPL for ONE person in the year 2013 is $11,490.  Each additional person in the family adds $4,020.  So the 200% poverty level for a family of four would be $47,100 ($11,490 + $4,020 + $4,020 + $4,020 = $23,550, x 200%).
Insurance rates are based on age, geography, and tobacco usage.  Insurance bought on the exchange must be purchased during the “open enrollment period”, unless a special situation applies.
Penalty
The penalty for NOT having insurance is the GREATER of two numbers: the flat amount and the percentage amount.  The penalty is assessed monthly, and each month is one-twelfth of the following annual calculations:
The flat amount is $95 ($325 for 2015, $695 for 2016 and future years) PER adult, PLUS half of that per child under 18.  There is a maximum flat penalty of $285 ($975 for 2015 and $2,085 for 2016 and future years).

The percentage amount is 1% (2% for 2015 and 2.5% for 2016 and future years) of HOUSEHOLD income (including dependents) in EXCESS of the filing threshold.  The filing threshold in 2014 for a single person (under age 65, not blind) is $10,150, and a married couple (under age 65, not blind) is $20,300.
For example, let’s say a household consists of 2 adult and 3 children under 18 years old.  The total household income is $60,000, including any income the children earn.  The flat penalty is calculated as $95+$95+$47.50+$47.50+$47.50=$332.50, however that is greater than the maximum flat penalty, so the flat penalty would be $285.  The percentage penalty is calculated as $60,000-$20,300=$39,700 x 1%=$397.  The percentage penalty ($397) is greater than the flat penalty ($285), so the penalty is $397.  The penalty in this example would be $975 (flat penalty) in 2015, and $2085 (flat penalty) in 2016 and future years.
There are a number of exceptions to the penalty, including if the health insurance premiums would exceed 8% of your income or if you are uninsured for less than 3 months.
Credit

The “premium assistance credit” is based on the “second lowest silver plan” for a non-tobacco user.

I assume the IRS will publish what the “second lowest silver plan” prices are for each geographical location and age, and this will probably reported on the year-end form that the insurance companies are required to issue to the taxpayer.

If a taxpayer’s income qualifies for the credit, the credit essentially limits the insurance cost to a MAXIMUM of a sliding scale of an “applicable percentage” (AP) of the taxpayer’s income.  Essentially, age and geography don’t matter anymore; only income.
The taxpayer MUST purchase insurance through the exchange to be eligible for the credit.  The taxpayer may choose to have credit paid directly to insurance company each month, or wait until the tax return is filed.  Either way, the tax return will ‘reconcile’ the tax credit with the actual income for the current year.  If the taxpayer owes a significant amount during the ‘reconciliation’, the amount owed may be limited.

If the taxpayer has access to “employer-sponsored” health insurance, the taxpayer will ONLY be eligible for the credit if he purchases through the exchange AND either (1) the employer-sponsored health insurance provides less than 60% coverage (less than a Bronze plan) OR (2) the employee’s portion of employer-sponsored health insurance exceeds 9.5% of income.

For a non-tobacco using family of one buying the “second lowest silver plan”, these are generally the MAXIMUM amounts a person would pay per month for insurance.

133% of FPL = $15,320 Annual income = 3.0% AP = $36 per month insurance payment
150% of FPL = $17,235 Annual income = 4.0% AP = $57 per month insurance payment
200% of FPL = $22,980 Annual income = 6.3% AP = $121 per month insurance payment
250% of FPL = $28,725 Annual income = 8.05% AP = $193 per month insurance payment
300% of FPL = $34,470 Annual income = 9.5% AP = $273 per month insurance payment
400% of FPL = $45,960 Annual Income = 9.5% AP = $364 per month insurance payment

For a non-tobacco using family of four buying the “second lowest silver plan”, these are generally the MAXIMUM amounts they would pay per month for insurance.
133% of FPL = $31,400 Annual income = 3.0% AP = $79 per month insurance payment
150% of FPL = $35,325 Annual income = 4.0% AP = $118 per month insurance payment
200% of FPL = $47,100 Annual income = 6.3% AP = $247 per month insurance payment
250% of FPL = $58,875 Annual income = 8.05% AP = $395 per month insurance payment
300% of FPL = $70,650 Annual income = 9.5% AP = $559 per month insurance payment
400% of FPL = $94,200 Annual Income = 9.5% AP = $746 per month insurance payment

If a taxpayer purchases other plans (bronze, silver, gold, or platinum) or is a tobacco user, the taxpayer will pay the difference.  The credit won’t affect the ‘extra’ amount.
Cost Sharing Reductions

If your income is under 250% of the Federal Poverty Level (FPL), you would qualify for “cost sharing reductions” IF you buy a “Silver” insurance plan.  Cost sharing reductions result in a lower “actuarial value”, which means reduced ‘out of pocket’ maximums (see below) and usually lower deductibles, co-pays and/or coinsurance.  You MUST apply for this when purchasing your health insurance through the exchange.
In-network annual “out of pocket” maximums:

Less than 100% of FPL qualify for Medicaid (Some states are 133%)
100%-200% of FPL = $2,117 for individuals, $4,233 for families
200%-250% of FPL = $5,080 for individual, $10,166 for families
Higher than 250% of FPL = $6,350 for individuals, $12,700 for families
The “cost sharing reductions” require you to buy a “Silver” plan, but you can buy ANY of the plans to receive the “premium assistance credit”.  If you buy a “Silver” plan, you would get both (assuming you otherwise qualify).
Actuarial Value
“Actuarial Value” essentially means how much the insurance company will pay for the ‘average’ person of your age and location.  The HIGHER the number, the LESS the ‘average’ person will pay for out-of-pocket maximums, deductibles, co-pays, and coinsurance.

Bronze = 60% Actuarial Value
Silver = 70% Actuarial Value
Gold = 80% Actuarial Value
Platinum = 90% Actuarial Value
Silver with Cost Sharing and FPL of 100%-150% = 94% Actuarial Value
Silver with Cost Sharing and FPL of 150%-200% = 87% Actuarial Value
Silver with Cost Sharing and FPL of 200%-250% = 73% Actuarial Value
IRS Circular 230 Disclosure: Any U.S. federal tax advice contained in this communication (including any attachments) is not intended or written to be used, and cannot be used, for the purpose of (i) avoiding penalties under the Internal Revenue Code or (ii) promoting, marketing or recommending to another party any transaction or matter addressed herein.
